Practice) Probiem Solving using Venn diagram
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Probability Questions From Past IB Exams

1. A bag contains 2 red halis, 3 biue halls and 4 green bafls. A ball is chosen at random from

the bag and is not replaced. A second bal is chosen. Find the probability of choosing one
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2. In a bilinguat school there is a class af 21 pu%n]s. {a this class’ 15 of the pupils speak Spanish
as their first lanpoage and 12 of these 15 pupils are Argentine. The other G pupils i the class
speak Tinglish as their first language and 3 of these 6 pupils are Argentine. 42, ,{)
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A pupil is selected at random from the class and is found to be Argentine. Find the %{/_, Q
probability that the pupi} speaits Spanish as his/ber first language.

£

K2 For the evenis 4 and B, p(d) = 0.6, p(B) = 0.8 and plA W B) = L

) o
/’1-/‘ -"/ //. y
Find 4 e
() pAnE) = O N

by pCAVED - o \
i< W=t e
reT “J(’;Eﬁ
pY -/T -~ ﬁ 4 ':L%

4. A fair coin is tossed cight times. Calculale
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(c)  the probubility of obtaining 3, 4 or 5 heads.
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5. The local Football Assorintion consibfs of ten teams. Team A has a 40 % chance of winning
any game against a higher ranked team, and 2 75 % chance of winuing any game against a

lowes-ranked team. If A is currently in fourth position, find the probability that A wins its

next game. 4 [," ™ ~
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